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; Grey line: exponential fit Peak flux: 2.120+/- 0.521 c/s/cm® ;
= Black Iing: p.ower law + gauss fit Fluence : 51.07+/- 10.36 c/cm? ]
- Dashed line: power law . 7
- Duration: 72.59+/- 15.68 s =
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E Power law index: -0.935+/- 0.180 (chi*red= 0.81) =
= bbb g IR A Lt b
= *ﬁﬁ“ﬁﬁﬂwﬁﬁﬁﬁﬁ WﬁwﬁwwﬂfﬁwﬁwwwWmﬁgﬁﬂwwﬁmﬁmﬁ#ﬂwMﬂﬂmHﬁwﬁwﬁﬁﬂw+ﬁﬂ“ﬁﬂﬂmwmﬁwHﬁﬂﬁﬁﬁﬂﬁWHﬁ Wﬁ*ﬁﬂﬁ%
i I T T T T T T T T T I T T T T T T T T T I T i
— Power law fit plus Gaussian (st.dev.= 28.63+/- 4.22 s, fracgs= 0.35+/- 0.08) =
- Power law index: 0.109+/- 0.402 (chi*-red= 0.79) 3
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